
136.06 136.06

136.67

136.42

625.00   W= 0.28   N= 1.10

136.06 136.06

136.67

136.41

627.00   W= 0.30   N= 1.07

136.08 136.08

136.69

136.44

648.00   W= 0.30   N= 1.02

136.10 136.10

136.71

136.47

658.00   W= 0.38   N= 0.90

136.48

136.63

137.09

136.70

727.00   W= 0.04   N= 1.97

136.74 136.74

137.35

137.20

765.00   W= 0.45   N= 0.45

137.09 137.09

137.70

137.39

838.00   W= 0.20   N= 1.36

137.28 137.28

137.89

137.65

882.00   W= 0.49   N= 0.74

5.00.0-5.0-10.0

3.50

5.00

5.50


